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1 1001 20 0.50
In how many ways can 8 menu be made from 5 dishes. if the menu contains either 3 or
4 dishes?
1. 2
2. 3
As: W
4, 15
T 5 === & faeT 9o T U Ateaar (He) F S5 A1 o §
afe wiswgE # 3 T 4 =@ &f
|
2. 3
i
4. 15
A
1
e
p.
Al
3
2,
4
Objectve Cuestion
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All the four enfries in column A must be matched with all those in column B,
Each comectly matched option gets one mark and no mark is awarded
otherwise. Which of the [ollowing mark(s) CANNOT be scored?
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Objectve Cuestion
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In the fisure log,q v 15 plotmed against log,, ©
loginy 4.

0 ; /
-1 [ 2 3 4
/ login X

A

ol

When v 15 plotted against x, then the plot in the provided ranze is
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Four children had 27 apples among them, No child had less than 5 apples. If no twao
children had the same number of apples. then which of the following could NOT be
the number of apples & child had?
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In 1979, Ramesh’s age was the sum of the digits of his vear of birth. In 2017, on his
birthday. what was his age?
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What is the minimum number of pourings needed to get 4 litre of milk from & fully
falled 8 litre can. vsing ungraduated empty 5 and 3 lire cans? No milk should be wasted.
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Radins of a sphere is measured with 5% uncertainty. What is the nneertainty in the
volume, determumed from thus radius?
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A muck from a post office 15 sent 1o colleet post from a plane as per schedule, The plane
lands abead of schedule. therefore s contents are tremsported by a rickshaw. The
rickshaw meets the truck 30 minutes after the armval of plane. and the post is
transferred. The tuck retns 1o the post office 20 minutes early, How early did the
plane arrrve? (Assume all transactions are instantaneows. )
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20 minntes
30 minutes
40 minntes
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A person's viral load measured m some umt was 15, 25, 50, 200, 3040, 150 and 30 on
days 1 to 7, respectively. The maximum relative change took place between

day 3 to day 4.
day 4 to day 5.
day 5 to day 6.
day & to day 7.
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I'he time seen in a mirror placed opposite a numberless analog (with hands) wall clock
15 4 b 55 mon. What approximately 15 the correct time?
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For every 5 chocolates that Ramesh gets, Suresh gets 3 chocolates. Geeta gets 3
chocolates for every 2 chocolates that Suresh gets. If Geeta has 18 chocolates, then

the stn of chocolates with Ramesh and Suresh s
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Objectve Cuestion

12102 ) m 20 |00
In a market, you can by a mango for Rs.10, a lemon for Re 1 and 8 chillies for Re 1.
How many of these nems do you need to buy to get a mix of 100 ntems for exactly Bas.
1007

1. & mangoes, 22 lemons, 72 chillis
2, Tmangoes, 21 lemons, 72 clalhs
3 1 mango. % lemons., 80 chillis

4, B mangoes, 12 lemons, 80 ¢hullis
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The sum of the two positive mtegers is 14, Then their product CANNOT be divisible
by
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14 1014 2.0 0.50
A bard keeps flying continuously between two tramns. that are following each other on
a straight track. The train behind is slower than the one ahead by 1.5 kan'h. If the speed
of the bird 1= 20 kno'h, what distance would the bird cover in an hons?
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SCRIPT : DIRECTOR :-: ??: CHEF

Choose the most appropriate option from the following to Bl the blank

MENT

RECIPE
RESTAURANT
MEAL
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Which one of the following is likehy to be tmee?

Country P
fge group

& aF M &= B 0 o8 18 M &3 W
Papulatian {in milians) Poaprulatiean (i millians]

Rdabe

0 B MO 0 o8 18 M 12 0
Papulation (in millicng) Fapulation {in millians)

I Country Q has hegher lifes expectancy

2. Country P has higher per-capita income

3. The population of country P 15 decressing more rapidly than Q
4, Country P has better health facilities

The figure shows age-wise bar graph of male and female population of rwo countries.
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The above figures show population pyramids to four countnies A, B, C and D. The
country showimng the most stable population 1s
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Ohjective Question
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What is the value of X in the given magic square, (Le. a square gnd in which the sum
of the numbers in rows, columns and diagonals is the same)7?
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Objectve Cuestion
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A letter 15 drawn at random from the following string of letters.
RBAMUEYAJNAS
What is the probabiliry that it is NOT a vowel?

1. 112
2. a8
3 T
4. 811

eIt #r & TE ofmen

RPAMUKYATNAS
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Which of the following have/has more than $9% of the mass of the solar system?
1. The Quter Planets
The Inner Planets

The Comets and Kuiper belt objects
The Sun
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Oljectve Cuestion
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TOR0D3

For a vertical fold, the dip of the profile plane is given by which one of the following
values?
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The resistance of @ wire of 1 meter length and 1 mm diamster is 1 ohm. The
resistance of the wire of 50 cm length and 2 mm dlameter, of the same material, Is

1. 1 ehm
2.  2ohm
3. 1/2chm
4 1/8 chm
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1. 1ohm
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4, 1/8 chm
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Ohbjectve Cuestion
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Which one of the magnetic elements may be differant at two locations situated on
the same magnefic latifude?

1. F the Earth's total fisld

2. ¥, its vertical component

3. H,its horizontal companent
4. X, its N-5 component
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If the Earth were to ba 20% farther from the Sun, then itz gravity field would be
1. same as the present

2 14.14% smaller

3. 20% smaller

4. 28.3% smaller
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Oljectve Queston
26 TOZODS
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2, 14.14% FH gHEmI
3. 20% =H gem
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Chennai has reported an earthquake of magnitude 4 and intansity &,
simultanecusly Guwahati reported an earthquake of magnitude & and intensity 4.
which one of the following inferences Is true?

1.  Guwahati iz closer to the epicenter than Chennai
Drestruction around Guwahati is more than that at Chennai

Guwahati and Chennai recorded differant earthquakes

A wwp

Guwahati and Chennai recorded different core phases of the same
earthguake
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Olbjectve Cuestion
27 TOZOOT 20 0.50
Which one of the following Large lgneous Provinces (LIPs) is the oldest?

1. Parana
2, Karoo

2, Deccan
4, Slberlan
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Assuming a standard Earth model, the P shadow zone can be increased by
1. increasing the P-velocity in the inner core

2. decreasing the P-velocity in the inner core

3. increasing the radius of the outer core
4.

decreasing the radius of the outer cora
U Aleh Ll FiET A g, PO 69 TG A FhaT §
1.  zafis #wE & pafa st g2
2. HEHEF ®E # PAT F " wH
3. WE0 Wi % e W ae
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Ohjectove Question
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Which waves of an earthquake are recorded last In a selsmogram? =
[ -

2 5

3. Raylsigh

4 Love
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Which one of the following plates has the lowest average plate-velocity?

1.  Pacific
2 Indian
3. Afrlcan
4 Eurasian

=T et # 7 5 vw e fr gew W e ety B

1. we0
2. HEOE
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Olbjectve Cuestion
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The eye of a tropical eyclons is warmer than its environment due to
1. Adiabatic expansicn of air parcel
2. |sothermal compression of air parcel
3.  Adiabatic compression of air parcel
4.

|zothermal expansion of air parcel

UF IEE(EAUT TFAE T AT TEF qAEI0T ¥ e A A £ 7 SguE
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Axis of monsoon depression is verically filted
1. northward

2. westward
3. southward
4

eastward
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33 702013 2.0 0.0
During El Ming years the Walker cell shifts
1.  northward
eastward

2
3. southward
4

wastward
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Olbjectve Cuestion
34 TOZO14 2.0 0.50
Ozone concentration Is the maximum in the

1.  Lower Stratosphers
Upper Stratosphers
Lower Mesosphere

- R

Upper Mesosphere
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Ohjective Question
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Ohjective Question
36 TOZ01&

Tropical easterly jet is observed over the Indian region during

1.

S

AEET 89 F I 3907 Feadm = vuR (79 ¥F e gmm S

£l

December to February
October to November
June to September

March to May

fea & wad
T A
5= ® famet
A # A

Earih's energy budget is realized through

"y

radiative process only

2. radiative and latent heal processes

3. radlative and senslble heat processes

4. radiative, latent heat and sensible heat processes
gt Y 53 amwenTE (3E) FAA __ & @0 @
1. Faw Rt afeor

2. Tafrofr vae aea ST whearat

3. fafrroh vom waeT Foar sfemt

4. Tafeoft, aes SwAT UeH HdET FEAT SRR
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Objectve Question
3B TORO1E
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Statement A: Turbulent flow is associated with high Reynolds number
Statement B: Turbulent flow Is assoclated with strong mixing

Choose the comrect option.

A s correct; B is incorrect

A s Incorrect; B is correct

Both A4 and B are correct

E N

Both 4 and B are Incorrect

TUT A: TR T IoT Yeles WO & Wy Hafow #a ¥
U B: UEREY UaTe TE T & wrr seie g

wér faeew & T

1. AW ¥ BIEH ¥

2. ATEIEB FH ¥

3. ATaA BEE wE E

4. ATaH BEE e ¥

Temporal distribution of genesis of tropical cyclones over the north Indian ocean
annually is

1. Unimodal
2 Bimodal
3., Trimodal
4 Quadruple
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Objectve Question

oAt fimg AR &% 397 Tiftw ®9 ¥ w07 FiEady st § =9 a6
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1. TFage
2. ZRageEr
3. Pegerh

4. I EEEH

Statement A: Deep convection is characterized by low outgoing longwave radiation
(OLR)

Statement B: Monsoon |s characterized by bimadal alr temperature
1. Ais comect; B is incorrect
2. AlsIncomect: B Is correct
3. Both A and B are comact
4

Both A and B are incomect

FUF A: Heafeamdr S 19T (oulgoing longwave radiation: OLR) fafFror amr
malT Hage ot sfEelEa e s #)

T B: WAHE & Eagae! a1y AuAE I FREwT G A gl
1. AWEE BIWH ¥
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4 ATaH B & 7oA ¥
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Ohbjectve Cuestion
41 TO2021

Al

VWhen there is a balance betwean the upward pressure gradient force and the
dewnward foree of gravity, the atmosphere Is

1. Geostrophic

2. Hydrostatic
3.  Baroclinic
4 Barotrople

9 IEAE I TAUET 9 USH AT F AUHE 99 F 99 5404 & 79
IGAEET ____ E R

e
2. gaedfas

3. SE9SOE

=
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LFE)

Annular drainage pattern l.,lﬂ-l.lall"lI evolves on
[ Stratovolcanoas
Shield volcanoes

Barnhardts

WM

Structural domes

HHITAT, ST 98 97 e & #
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2. ez saTeTEEr
3. dwEesq

4. TTEEERF T
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42 TO2022 20 0.50
Which one of the following is NOT an ecosystem service?

1. Decomposlitlon of organlc matter

2 Paollination by winds

3. Soil formation

4.  Sustaining biodiversity

s & BiF Te wRreufae-a der &g 8
1. wnfas ggrd o e

2. TaEt g oI

3. =

4. g fafna = B
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Which one of the following is a gently sloping, concave rock cut surface with only a
thin debris cover developed by arosional processes, at the base of a steep slope
or mountain front?

1.  Strath

2 Peneplain
3. Etchplain

4 Pediment

fer 7T F ¥ FF v AT T U AN F HUR 97 AEA TEAT 25N S48
UF AT 319 Tigd. 95« o4l 981 F Oy #9949 49 FoE 69E 27

1. F2er

2. waww AqfE ()
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Objectve Question

45

TORO24

TOROZS

Which one of the following statements on eskers s INCORRECT?
1.  They often show stratification.
2. They can ba tens of kilometars long.
3. They do not show branching.
4 They form within glacial ice.
8 § #iA v FyA vEt ¥ BT aEa §0
1. & s =i e €
2. ¥ i frander &9 8@ &)
3. & e @ EEe
4, F e e F &= F =99 £

Barbed drainage pattern indicates

1. reversal of drainage.

2.  evolution of drainage over plunging anticlines and synclines.,
3. presence of underlying en-achelon faults.

4. channel incision.

FEAHH FUaE wiaed & EEa #

1. ¥OaE F ToEAT
2. IOaAEr IOEaat UF et #F FuT e & Rrers

3. ¥O.FTY wer st fr softu
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Which one of the following types of resolution of satellite images depends on the
Instantaneous Field Of View (IFOV)?

1. Spatial

2 Spactral

3. Radiometric
4. Temporal

8 ¥ #iF vF 39aE AT 1 BEEE # TRH, 739 F et ST 97 ot
i & (IFov)?

1. =nfas

2. FuwH
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47 702027 2.0 0350
A scratch or groove engraved on a hard rock surface by abrasive fragments frozen
inta moving ice, or trapped between sliding ice and the valley floor is known as

1.  Flute

2. Striation

3. Ventifact

4. Slickenside
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nfEmE fim & = e fe few vem o @ ¥ S ofiE s e
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Which one of the following farces is NOT Involvad in the balance of forces for an
atmospheric Ekman layer?

1. Coriolls force

2, Pressure Gradient force
3. Viscous force
4

Cenfrifugal forca

T% FYAEHT THATE TS (Ekman layer) & BT = & #i9 v+ a9t F g
# anfHe A AT &7

1. wifgfes &
2. &M YEUET a9
3. O AW

4, FOFEeST EA
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Which one of the following minerals indicates the highest degree of chemical
weathering 7

1.  kaolinite
chlarite

vermiculite

Ll

illite

A T FiF T e T90 H#E 40f F1 T 9sT B §
1. #3omEe

2. FEAT

3. FHfgaEe

Sea level doss NOT Increase dus o the
1. melting of sea-ice

2. warming of water

3, melting of continental ice

4

increase in river nun-off

WHE FOT & SNOT AT @e g
1. e - ®F ¥ e

2. & T A

3. FEEErT R & e

4. @I FOIE F I
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Ohbjectve Cuestion
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Which one of the following epochs was the warmest?

1. Pliccens
2 Eocene
3. Oligocens
4

Miocens
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Objectve Question

52 TOZ032 2.0 0.50
Which one of the following rocks commonly hosts Platinum Group Elements (FGE)
ore deposits?
1. Felsic volcanic rock

Greywacks

Ultramalic igneous rocks

2w oM

Mafic lgneous rocks
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Ohbjectve Question
53 TO2033 20 0.50
Which one of the following tectonic domains is characterized by the highest heat

flowr?

1. Craton

Mid Oceanic ridge
Collisional Mountain belt

oo om

Oceanic Trench

=3 ¥ FiF vw famdfAE waee sitwas e wer @ sfimiEe g g
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Ohbjectve Question
34 TO2034 20 [oso
Which one of the following leads to mineralogical maturity of a sandstone?

1.  Short transportation and quick dumping
Erasion and quick dumping

Chemical weathering at source and quick dumping

2 LM

Chemical weathering at source and long transportation
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Ohjective Question
56 TORO3&
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The life history of an individual in a population is known as
1.

2
3.
4

Blaestratinamy
Cntogeny
Paratypes
Phylogeny

UF FSEEN H U+ Ufee F #E4 Sagry ¥ AH ¥ AT A 8

e

Al

[

[

HIE=TEHR
ElECEL]

L9899

-

A crystal that has two perpendicular and one obligue crystallographic axes belongs
to which of the following crystal systems?

1.

2w b

tatragonai
orthorhomble
monoclinic

triclinic

2.0
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Objectve Question
58 TOZ03E

% fFrew & OW 2 #iieee vaR v fds fremedr ¥ § s AR T O
Frm Trrco coew & ¥99 T@T &7

1. Ig=fm
2. FraaeamnEr

The most abundant minzral In the Earth’s lowsr mantle Is
1. Bridgmanite

2. Ringwoodite
3. Majorite
4

Olivine

gt % fee 9ER H wad 9N @i gl

1, T=deee
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3. HEAET
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Ohjective Question
i TOZOD

In an ccean water column of 4 km depth the speed of sound is minimum at

1. adepth of about 1 km from s=a surface,
the bottom of water column.

the sea surface,

B oW N

a depth equal to half of the total water column.

o 4 fEd ST S AR (e FafwFral W
fem g
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In tropical ccean, the vertical thermal gradient is the lowest in the depth range of
1. 100-200m

2 200 - 500 m

3. 500-2000m

4 2000 - 4000 m

Feor Ffeadra AT &, ety i g=orET e gfraT & ey
FH 2

1. 100- 200 m
2. 200-500 m
3. B00-2000m
4, 2000 - 4000 m
o
1
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4
20
Which one of the following statements is MOT associated with the thermohaline
circulation?
1. It plays a crucial role in meridional heat transport within and between the
ocean basins.
2. It predominantly advects water mass zonally in the Atlantic Ocean.
3. ltinvelves cold and dense water formation.
It involves deep descending motion of water followed by horizontal
spreading at the deep sea.
A B P Ud SUN e affenas # St afr 22
1. wrr afEEt ¥ ey van 8w F el ofEes | Botas
Ao T &
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1
A2
A3,
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4
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Most stable form of nitrogen in the oxygenated water is

1.

2
3.
4

N,0
NO3
NO;
N,

sfEw=foT o= & a5 way afos oy v £l

1
2
3.
4

N,0
NO;
NOT
Nz
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a2 TOR042 2.0 0.50
Which one of the following is used as a proxy of paleoc-pH of the ocean?

1. §'%0 of foraminifera
3¢ of corals

&R of foraminifera

Ll

5SSy in black shale

HETT ¥ TpH (paleo-pH) ¥ BT =% 7 =i7 v= sl =1 3o S5 =
g7

1.  RRITESTRT #7580
2. WETA (FEA) w SEC
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Ohjective Question

63 702043 2.0 0.50
Which one of the following Is a greenhouse gas?
1. M

ﬂ?

Hy

B WM

H,0
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Objectve Question
g4 TOZ044 2.0 0.50
Which one of the following surface currents is gensrated by a westward (2asterly)

wind stress in the northern hemisphere?
1.  Northwestward

2. Westward

3.  Northward

4 Southwestward

Seail A & sAE ¥ Fi wag 9nd 9t (@) 95e sfeEe @
EICCEICE N
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Objectve Cuestion

=3 TOZ0435 2.0 0.50
The number of atoms of a radioactive element becomes half in 100 years, what is
the average life expectancy of an atom of this elemeant?

1. 100 years
2 144 years
3, T2years
4. infinity
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Ohjectve Question
66 T02046 20 0.50
Which one of the following mid-oceanic ridges is exposed on land?
1. Carlsberg ridge
2. EastPacific rise
3. Southeast Indian ridge
4 Mid-Atlantic ridge
EAH T FiF Uw FUIENHIT S 49 97 TR §7
1. FH=H FoH
2. g Wi IO (rise)
3. ST sREm FEE
4. HAUO-yEAlle® wew
A
1
Az,
A3,
st
4
Ohjective Question

a7 TORO4T 2.0 0.50




& cold ocean current in the southern hemisphere typically flows
1. nerthwards

2 southwards
3. eastwards
4

westwards

80T TEnt & v &5 w9 3Eat 9 #1 T vEE S
gl
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Ohjective Question

<3 TOZ048
The acceleration due to gravity (g) is the lowest at which discontinuity inside the
Earth?

1. Conrad

2. Mohrovicic
3. Gutenberg
4

Lahmann

et ¥ Ne¥ FFw WiEeT 9 TEA (9) F FHOT =IO WIH FH EEM?
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Ohbjectve Cuestion
&0 Tz 2.0 0.50
The magnitude of the magnetic fiald of the Moon is

1.  negligible compared to the Earth's magnetic fizld
equal to the Earth's magnetic fleld
half of the Earth’s magnestic field

o

ane fourth of the Earth's magnstic field

TEAT % TEFea 87 &1 90 gt F TR 87
1. & geem & Faog
2. % =T

3. W HMT

4. 7 Stk

Objectve Cuestion

T0 TOZOSD 20 0.50
Which one of the following corractly represents the kinematic vorticity number for
pure shear deformation?

1.

2.
3

4,

4 Fuwaw freanr & B sod @ o o, w6 w0 @ afae sfEear sem @

0

0.5
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2. 05

3. 075
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Ohjective Question
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Ohjective Question
T2 TOR052

"0, of benthic foraminifera in a deep-sea core increases from +0.2%: to +2%
from bottom to top. This compositional change, with time, is because of

1. increasing evaporation of sea water

2. decreasing surface temperature at depositional site

a, Increasing maiting of palar lee

4. combined effect of decreasing temperature and increasing accumulation

of polar ice

TF THT FEHA 13 H HEey SREEET #7690, 79 ¥ 1=
+0,2%0 T +2%0 % 9271 g1 TAT + AT I TeeAcH® Ja, +
T 24T &1

1. HHE FF % g I

2. AU FYE O WAE AT9AE FOOE

3. o@w few ¥ S e

4. T TEw TR T A wRer F e o

In ichnofossil assemblages, Fugichnia refers to

1= Drwvelling traces
2 Rasting traces
3. Escape fraces
4 Feeding traces

20

20
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Olbjectve Cuastion
73 TOR053
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Match the igneous texture In Caolumn-| with the corresponding process In Column
Il

Column | Column Il
A | Pomphyritic P Simultaneous crystallization
B | Dendritic (9] Exsolution
C | ©sclllatory zoning F: Two-stage cooling
O | Graphic 3 Magma mixing
E | Antiparthite 1T | Rapid cooling
i A-R, B-T, C-5.D-F. E-Q
2. A-R, B-5, C-Q, D-P, E-T
3. A-T, B-3, C-P. D-0, E-R
4, A-T,B-F. C-R, D-Q, E-5

FimH-| F FEET BT T FAA-11 # By @ okFaat & oy FEm w51

@i | Wi 1l

A | Erdfrrew sigdh P | sow e frresieaor
(TrTftRfrETE)

B | mpfaw Q| sofem

C |3 sizee R | fror ofmsa

D | sm=y S| v B

E | gfy-ut=e T | & ohaae

1. AR,B-T,C-3.D-FEQ
AR, B-5, C-Q, D-F, E-T
AT, BS CPDQER
A-T, B-P, C-R, D-Q, E-S
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Oljectve Cuestion
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Olbjectve Cuastion
73 TORO55
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Shear failure in rocks with pre-existing fractures under confining prassures
greater than 300 MPa iz governed by which one of the following laws?

1. Mohr-Coulomb Law
2 Byerlea's Law

3. Omorl's Law
4

Amonton's Law
300 MPa # ¥fw offinl ara & e qEadt fe & g i o s
fawee gadl @ TeEes T ot T aar &7

1, #t-gea A"

2. oot @ e

3. e @ e

4,  mHEERE = e

Match the column | with calumn |l and chose the comrect option

Calumn — | Column — 1l

A Glaclogenic deposit Ranigan| Farmation
B Glossopteris flora Fanchet Farmation
c Dicroidiurm flora Talchir Formation
D Ptilophyllum flora Jabalpur Farmation

wiao o

1. A-R, B-P. C-5,D-Q
A-Q, B-F, C-R, D-5
A-R, B-R.C-Q, D-S
A-5. B-R, C-Q, D-P
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TOROSG

Faw - | T FaAF || F 7Y Ao F77 9w w9 GEew 9

FiFH - Fraa =1l
A feratam e F AT ST
B |oweetfiig s===fa |9 | o=F wehE
C | mfiay sl [P | ot oufoe
D |ferrmew vy |5 | F9aq wehE
1. AR, B-P,C-5.D-Q
2. A-Q,B-P.C-R.D-S
3. ARBPCQDS
4. A-S B-R, C-Q,D-P
.y
1
AZ,
Al 3
3

VWhich one of the following sedimentary features Is observed on the vertical
section of a bed?

1.

2
3.
4

flute cast
dizh and pillar
bounce mark

prod cast

TR HEGL & 3TOIUY U0 UF 5638 © $id T HaE@T &0 3@ AT &7
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Ohbjectve Question
77 TOROST

Ohbjectve Question
78 TORO5E

Al

Consider the following statements:

A,
B.
C.
D.

A paraconformity does not involve erosion.
Law of superposition is applicable only to deformed strata.
‘Walther's law is applicable along the thrusted contact betweean strata.

Angular unconformity involves long gap in sedimentation.

Which of the above statements ara correct?

e e 1

Aand B
Aand C
Aand D
A.BandC

TorFq Tyt o7 =R 1

A,

B.

e ARSI (EAREE) WS # ATHA S8 #I4T £
FEAROT (Gt F1 ey o Refm wfemst #t o
o]

e # i it & i fw wEed F agfie wnp A f

Fofr FeRfaemTe (FEFAEHE) FTREA F o HaUd F oA
FTT £

FOIHT ®UAT J Fia Ha A7
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2

AT B
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Objectve CQuestion
T TOZ052

Which one of the following ligands forms the most stable complex with Cu in
acldic hydrothermal fluld?

1. F
2 OH™
3 EO
4, HS

HFATD TUTAST 39 # Cu F O1Y A #i9 UH Hoeql, ¥iaw T aFay
FATAT &7

1. ci-
2. OH-
3 so?
4. HS
1

.-'LI:

| 2

5
3

g
4

Arrange the following mineral deposits in the order of decreasing depth of
formation.

A Parphyry typa W deposit

B. Parphyry type Cu deposit
c. Bauzite deposit

D. High-sulfidation Au deposits
Choose the correct option?

1. A B D C

2 B.AD.C
3. D.B.AC
4 ADCE

4.0

[
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Objectve Question
50 TOROSD

Tt & e MU F FA A e @ee Wt w5 w g a
A OrEEd gwe W R

B. ONwE w9 cu fAeT

c. diTmEe ey

D. 3= TSR0 Au faede

Fer Ao g7
1. 4 B, DC
2 B.ADC
3. D.B.AC
4, ADCE
iy

1
AL,
.-".33
gt

4

\olcanogenic massive sulfide (VMS) deposits generally form because of mixing
of magmatic hydrothermal fluid (§3*8 = 0%.) and seawater (535 = +20%s). If &
WMS deposit records 6%*5 value of +12%:, what would have been the
contribution of magmatic fluld?

1: 20%
2, 30%
. 40%
4. 50%

FEHE-AT e FewEE (VMS) e wTATaar AR IS J9 AT
(8348 = 0%.) HT FHg TF (4745 = +20%,) F A0 F Fror o= ¢ ofz o
VMS fET 635 T A +12% 22 Sean £, &R g7 = o B
B

1. 20%
2. 30%
3. 40%
4. 50%:

20




Ohjective Question
81 TOROS1 ) 20 132
Bulk reck initial isctopic ratio of % S Srin an igneous rock sample is higher than

the bulk silicate earth (BSE) and ™*Nd/"**Nd ratio is higher than the chondritic
uniform reservolr (CHUR). It Implles that the sample may have formed from

1. an incompatible element rich source

2. an incompatible element depleted source

3. mixed sources of incompatible slement rich and depleted materials
4.

a chondritic source

UF ¥ 8 a3 # 0T 49 Ui mRrmiEe s vsnies, s
Tuferine Qe (BSE) & 30 § #M0w & U6 “INdHNd o Fesie T
T HER (CHUR) & ¥ ¥ ¥ & swe J170d o ¢ R a3

® &

1, & HESSY dcd & §F0eS Hid

2. TUF ¥EOSU dcd & HOETOS ®iE

3. WEOST oo Teuew vaw et oot & BfEe wie

4. TUF FieEEe ®@F

Objectve Question
32 TOZ0E2 4.0 1.32
If a framework silicate has Si:0 ratio of 3: 8, it implies that

1. Sl atom |s replaced by Al In one out of every 4 tetrahedra
2. Si atoms are replaced by Al in three out of every 8 tetrahedra

3. tetrahedra sites are equal in number to the number of oxygen atoms in
unit call.

4, it has |attice defects




Objectve Question
33

Objectve Cuestion

34

TOROS3

TOR0G4

v Tt (Fmew) BT & 90 L0 FO9 18 €, &5 Oaad £ T
1. 9cd® 9N SOchewt & F R & Si HUTAl gE wiowmee @ #)

2. UF A gOhaw ¥ A # 5130 Al g3 Siaentte R S
gl

3. Aehoeh FUEl T HEAT FRE Hiioew # HiFES BT B F
e #

4. TR 9F FWF LW g E

£
1
Al 5
2
A3,
- 3
3
|
4
20 132
Embayments are observed in which one of the following types of porphyroclasts
In a mylonlte?
1. a-type
2. d-type
3. A-type
4. p-type

UF AEAETEC # A BT T oitearer & W A OF hE TR F T

faa & 7

1. o=
2. G-9RIT
3 09
4,  $uUEH
fila

1
A2

2
A3,
o 3

3
Ay

4

4.0 1.32




Match the mineral assemblages in Group-l with corresponding meatamorphic
facies in Group-II:

Group =1 Group - |l

F | Garnet-muscovite-biotite- 1 | Granulite
sillimanite-quartz

Q | Orthopyroxene-clinopyroxeng- | 2 Greenschist
plagioclase-garnet

R | Glaucophane-lawsonite-albite- | 3 Ambhibolite

s

jadeite
Chlorite-albite-epidote- 4 Bluaschist
actinalite

-

P4, Q1. R-3, 52
F=3. Q-1, R4, 5-2
F-2, -4, R-1, 5-3
P-2. @-3, R4, 51

= o N

Fied-1 ¥ TS Ooddl & Y 308 i FieH-1 # SaEer el

& mr freme &%
AR — | Eora|

P | e - #rramse- T | dregemse
argteEe - AfEaEe-Faes 1

Q | oot 2 | e
FoTsTITETTRET —

R | romsarse - wigemee- 3 ofewaer
Healse — #EHES |

S | FeinTEE- WeaTsT- TdER- 4 wfire
wfaesemEe

1. P-4 Q1,R3, 52
2. P-3,Q-1, R4, S-2
3. P-2, Q4 R-1,83
4.  P-2,Q-3,R4,5-1

fila
1

Az

.-".35
4

Olbjectve Cuastion
835 TOR0G5




Ohbjectve Question

36

TOROSE

Which one of the following statements is TRUE for the Kathmandu 2015
Gorkha earthguake?

1. It originated along a strike-slip fault

2. It originated on the Main Himalayan Thrust
3. It was an in-sequence earthgquaks

4, It was a deep focus earthquake

FISHEE 2015 TG FT & Bw == g90 # ¥ S5 0w od &7
1. % U6 Afded-wdor H9 & Hegiey seues g

2, =% 7oy feaeae S0 (A9 RATeEe U)o Scuee g
3. OF U6 SARGA HSFT o

4. TF v THR SRl (BEH) HET AT

Which ane of the following is the most precise indicator of coal rank?

1 muaisture content

2. color of spores

3. vitrinite reflection

4. volatile matter content

=AH T FiF AT AT F AT tREE TE T AS 87
1. AT AT

2. ST W

3. fafemEe wEas

4. aremefer wEmat fr A
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Match the column-l with the column-I

Column = | | Column - I
A | Density hased spatial clustering | P | Performance of a
| classification algorithm
B | Random forest Q| Atmospheric correction of
image
C | Recelver Operating R | Supervised Image
Characteristlc curve classification
D | Dark object subtraction 3 | Unsupervisad Learning
method
1. A-Q, B-R, C-5, D-P
2. A-S B-R, C-P, D=0
3, A-S.B-R, C-Q,D-P
4. A-R, B-Q, C-P, D-5

FIOH | & WY iR || 71 FEE =11

FIeA- | FIAH-1|
A aver maiie Afes eow (P wifeo wew R o
G
S | gefeow =91 (=8 wiim) Q| R ¥ IgE=ET FEA
fgar e dfEewer s | R odEfEe fe o

D | g o1 97 g === S | wydafes witee SO
1. A-Q, B-R, C-5, D-F

2. A-S,B-R C-P,D-Q

3. A-S,B-R, C-Q,DFP

4. A-R,B-Q, C-P,D-S
]

I
.-".2:
.-".33
..3;44

4

=

132




Ohjective Question
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TOROSS

Which one of the following Is the INCORRECT statement regarding Oxyaen
izotope stages

1. Interglaclals are numbered backwards In time with odd numbers.
2. Ice ages are numberad backwards in time with even numbers.

3. The last ice age or Last Glacial Maximum is numberad as stage 2.
4, The last interglacial centered on ~125 ka is numbered as stage 3.

Hirwae FAee wo & T 39d ¥ FlF Ue S e ¥

1. dor-feeedn o Toow gemst & @y gag & f $r 3ty meifees
R =TT

2. Tt & o d=mat & Wy waa & O i 37 Felea G A
£l
3. = g w FEE Reedw == o WO 2§ e w4 €

4. ¥faw der-fowdm S fF ~125 eom-ad & werw SRS o, oo @
AT T B

Considar the following statemeant and the facts:

Statement: Urban surfaces generally exhibit higher value of Bowen Ratio
compared to rural area.

Facts: 4. Higher proportion of impervious surfaces in urban areas.
E. Lesser surface coverage under vegetation.
C. Greater release of waste heat from air conditioners.

Which combination of facts explains the Statement?

1. Aand B
2. E and C
3. Aand C
4. A BandC




Ohjective Question
o0 TOROTD

fore oue maw aut o fem St

FUS: AFT & TN F TONT Tk AT e e S IO AR
e & £

L A O B # 39 FEUd § HUEET §AE aar B
B. TTofd @ =gEE HEE HEo
C. OAwEEEE e Fuw HEEw A fr TERE

Tl & At & Q0H FUT H S A R

1. ATEEB
2. BTIHC
3.  AmHC
4. ABHFTC
g

1
.-".21
.-".35
A%

4

Match the following world climate types with the symbols that represent them, as
proposed by Képpean,

Climate type Symbaol
A | Tropical wet climate with no dry season [P Cfb
B Mediterranean climate Q BWkK
C | Marine weast coast type climate R Af
D Mid-latitude dasert climata 5 Cs

1. AP B-3, C-R,D-Q
A-S, B-R, C-Q, D-P
A-R, B-S, C-P. D-0
A-Q.BPC5 DR

Lol
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TOZO71

FIOA TIW TEATSA T F Hgwn Br v g S9Eg 9 F WY =S
ofafaftes F=1= 31 96 F=1 JEE F:7)

AT T EGIED
A | T o= wtew ¥ Iwor Ffeaiw g (P Cfb
b ¢
B | sprammrin swam Q |BWk
HHE Siias 92 T So=rg il e
O | meg-amer mFye 99 S Cs
1. A-P. B-5. C-R,D-Q
2. A-S, B-R,C-Q, D-P
3, A-R, B-5, C-P.D-Q
4. A-Q BPC-S DR
1
.-'LI:
Al 3

Which ane of the following Is a FALSE statement about ‘Ecosystem services'?

1. Soil formation constitutes 50% of the total value of ecosystem services

2. Four categories of ecosystem services were first documented in Global
Environmental cutlook &.

& Faollination by winds is not an ecosystem service.

4. Decomposition of organic matter is a regulating service

TifRfaE &9 dasT & Al # Ry g # 9 FF 15 T e 87

. o T oftfeafae d darst & gw we o so aftee g d
2. s gomro Tfrer s (reErREew HEEaE 6) H AW Avh &
ofifeufe g9 o vuw aw mefes e o
oaet ZT e o 53 d@ar &
TTeTeres Uent @1 WuUes U fafewT @ E

210
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4.0
Statement (A): If a meander recurves until it intersects an upstream portion of

a rlver ehannel, a neck cutoff accurs.

Statement (B): The abrupt gshortening of a river channel length. locally increases
the channel gradient and velocity.

Based on the given statements, choose the comrect option®

1. Als correct but B Is incomect
2 A is incorrect but B is correct
3. Both A and B are correct and E is the correct explanation of A
4. Both A and B are correct and A Is the correct explanation of B

FUT (A): T UF FAEY A9 o wiaefes o & o9 9% e § 9y =
Ft Tia=te T £, 09 U =% T3 (neck cutof) swar #

FUF (B): UF g Tfer g i MFFAF Fgar FUET @lv o7 afgsr
UEUTET TSH e &7 227547 £

Rr v Fu=t F FUR W wE ERew 7

1. A TE ¥ 9= B 9T FI

2. ATEE & e B HET &)

3. ATSA B g Wl § U9 A ¥ W =OE B f
4. ATEH BT T £ TSR B #r W SUTEN A B

4.0
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Ohjectve Question

o4

TORO0T4

Identify the sand dune types

R These dunes are especially well-developad in the heart of Trade wind
deserts and are huge landforms.

B. Their crests are ridges roughly perpendlcular to the effective wind and are
common along coastline,

C: These dunss occur on the windward side of a hill and mave up the hillsides.
Choose the comect option?

1, A-Lengitudinal, B-Transverse, C-Star

2. A-Transverse, B-Climbing, C-Longitudinal

3. A-Longitudinal, B-Tranzverse, C-Climbing

4, A-Barchan, B-Parabolic, C-Climbing

e, fezar ot F O

A 3 R ugEaar s ged Aveawt & det-de # geito o §
e freme wwengta 2 E

B. 3@ ofid, e gt £ S uardt vesl & s s g # mas
TAETAT 72 T F iy o E

C. % fewd mE & voodHE o6 & 8 € vor oeE aned o7 Fug &
% ged £

1. A-FEELR, B-3uEy, Caned
2.  A-MEWEY, B-HIEIOT, C- i
3. A- ¥egdwd, B- ey, C-3mieer
4.  A-GTEE, B-UITwE, C- HET
1
Al 4
Al 3
4

Statement A: The base-level Is the lower limit in the landscape, representad by
sea level, below which the rivers cannot erode,

Statement B In case of deflation basins, the water-table level or calcrets layer or
armoured surface forms the base level

Based on the given statements. choose the correct option

Both & and B are True

A js True and B is False
Both A and B are False
A s False and B is True

o




FUF A BIETFS H FH-5T 7 fre g e € S R AeE a=
gfafafies f1 71 &, f5wF & 285 ¥oes &27 =7 741

FYA B: FIEEA 0T F OA F, Ain 9T F AT W R T T
FIIGHT AAE I, TA-FA A K

fer a0 Fat & amuw S WA Rawew o

1 ATE Bl wEr E

2 AT E AWM BT &
3. ATIH B gt 7o &

4. ATHS § AW BWEE

M
1
AZ
2
Al
¥ a3
3
i
4
Olbjectve Cuastion
o3 TOROTS

Find out types of mass wasting representad by X, ¥ and £ in the glven diagram.

Wiet

Y

£

2

B

=
X F A

-

Fast — Bl

X - Landslide, ¥ - Mudfiow, Z - Slump

X - Earthflow. Y - Solifluction, Z — Landslide
X - Rockfall, ¥ - Solifluction, Z - Creep

X - Mudflew, Y - Creep, £ - Salifluction

= pok o=




Olbjectve Cuastion

]

TOROTE

T & X, Y UaH Z AW Sidf@itied 3 el g8 80T & Tl S a0
(Wet T Dry : 9[=h, Moisture : HEaT, Fast : 1F; slow : A=, spead :
)

Yhied,
" )
:_:3
® z
o
Fast spend low
1. X=3FEed, Y = TH-TaE, Z = Ha9T
2.  X-TFEIETE. Y - ST, Z - HFEeA
3. X- 999, Y - AGEE, Z - #gfawaor e
4. X-FEEEE. Y - FEfawaor frmdn, Z - gemder
i
1
AL
2
a3
.2
3
|
4

Assertion(A): Most sinuous rilles of the Moon were formed out of lava tubes
Feason(R) : Roofs of lava tubes often collapse to reveal thelr interiors

L Both & and R are true and R is the comect explanation of &

2, Both A and R are true and R Is not the correct explanation of A

3. & iz frue but R is falze

4, Als false but R Is true

T (A) AT ¥ T Sfia F=w (hilles) T afe=at & =0
g

FAMR) AT AT F o s i f B = e
fams & &

1. A TS RaW Wér & Tur A W T eI R §

2. A UF RIET WA § FurA Fr wEr mmEwm R A 2
3. AT & Weg TEA RE

4.  ATES § T REE
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oF TOROTE

Which one of the following remote sensing sensors includes a blue band?
1. LISS-I

2 LIsE-
3. LISS-IV
4 AWIFS

U 10 # @ #i7 v qog H4EGA HAEN UF Al G2 H AMAN FLaT £7
1. LISS-I

2. LSS
3. LISS-IV
4. AWIFS

“,

1

Al a

2
3
Ady
i

Assertion(&): Cheniers are linear beach ridges separatad by low-lying swamps
developed parallel to the coast,

Reascn(R) : Sequential transgression and regression of a coastal area leads to
changes In litoral drifts that Influsnce chenler develaprment

Choose a correct option

1. Both A and R are frue and R is the correct explanation of &

2. Both A and R are frue and R is not the correct explanation of A
3. A ls true but R is false

4. Ais false but R is true

20

20
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Hiwya (A): 9o W geees B9 ¥ S g O W o weeET
Ry gvest ® Rewe g &

T4 (R) : WA € HT F HNGHAE AGEAT 1an ulaEam, derel aw e
T FEAT FIAT £ S ST F e @ uwfas Fra E

w8 Rawew @ 98

1.

2,

Amaa R et w8 & @ AP Rud e §
ATaR ReaEt wd ¥ qur AR R ud sorear w4 E
Awh ¢ aeg R 7aa
ATAI ¥ Teg R ®fr &

Match the factors (List-l) with corresponding processes or features (List-Il)

List-l (Factors) List-ll{Processes/Features)

4. | Topographic Gradient L. | Extreme events

B. | Distance from water divide M. | Salinity incursion

C. | Geomeorphic threshold M. | Topo sequence

D. | Dominance of flood tida O. | Craep

P. | Estuarine Sedimentation

1. A-FB-LC-ND-M
2. A=-O B=N.C-L D-P
3. A-O.B-M,C=-ND-P
4, A-N,B-O.C-FRD-M
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= & Fiw ¥ Ty e -1 # Ry T aheamst sEr afEee
o TEe S

forez-l (FH) Forez-1i (vl s fErererom)
A. | PR TEE HgEa L. | =& =ear
B. | o R & gft M. | Faor 3ta A
C-| o sfa g N. | e - sgm
0. |zam a1 # = O. | wdur
F. | saneemdt s

=l

A=-PB-LC-ND-M

2 A=0, B=N.C=L D-P
3. A-O.B-MC=-ND-P
4. A=MNEBE=O,C=FRD=M
<3

1
A2,
.-'LFE

da

Statement A: The asymmetry factor (AF) of a drainage basin is derived by
100={Ar/dr) where Ar Is the total area of the basin and A= Is the area of the basin
to the right (facing downstream) of the trunk river

Statement B: AF s an indication of possible tectonic tilt of a drainage basin

Based on the given statements, choose the correct option

1: Als correct but B Is wrong
2. A s wrong but B is correct
3. Both A and B are correct
4, Both A and B are wrong

FUA A T HIG1E AT8a ® HOHAEAA FEF (AF), 100=(Ar/AR) 23T fa=afea
foram Srar & =T A AT T F S9EA E, F97 A 39 IS F AEwa € ST
HET 71 % T # § (T8 1 AW H)

FUT B AF ¥va 48T ¥ waw Aedfes g 1 owhe
. AFHE Og BT &

2, ATWT §T=g B ®&r &

3. ARt mETE

4, ATS BEEWT TET F

132




Olbjectve Cuestion
101 | TOZ0B1

Objectve Cueston
102 702082

Al

Which of the following features best defines the \Weber's Line?

1:
2.

=E T T afimew =97 F IS T 599 A Ot ¥ ofpeie e i

1.

2.

The line separating Australian and Asian fauna

The line of supposed faunal balance’ between Oriental and Australian
faunal regions

The wastern boundary batwean upper and lower mountain forast of Mew
Gulnea

The wastern boundary of strictly Australian fauna

T2 TET MTrefeaT TS UTiET & oifurat S ower Fear §

it (fraeew) vaw s it g9t & @ we Wit
Heee &

=1 T ¥ 559 R e Tiw e F @ ofvedr d@e

oA weefEang wofat $r ofas @

20 132
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Identify different geomorphic settings in the given schemaltic topographic profile,

LEEE

Banga

T A-Bhangar, B-Terai, C- Khadar, D-Bhabhar
A-Bhabhar, B-Terai, C- Ehangar, D-Khadar
A — Bhabhar, B-Ehangar. C-Khadar, D-Teral
A-Bhangar, B-Khadar, C-Ehabhar, D-Terai

2w oM

& T crTruTeRE FUegiae Srafew (e & R s
SEETT

(Himalaya : fEATET: Ganga river @ 79T #2N)

—_———
Oanga
W,

1.  A-ST. B-T0, C- ©ET, D-3T8T

2, A-STTHT, B-ATTE, C- AW, D-EET
3. A-#TAT, B-9NR, C-@ET, DU

4. A - ST, B-TET, C-5TT, Do




Two anomalous bodies A and B in the form of vertical sheets extend infinitely
closest to the magnatic equater In the N-3 and E-W directions, respectively, If
nelther body possesses remanence, then which of the following statements |s
valid with reference to their magnetic anomalies?

1 Their anomaly profiles are identical

2. Their anomaly profilas are similar, with the anomaly over B being
stronger

3. Their anomaly profiles are similar, with the anomaly over A being
sfronger

4, Their anomaly profiles are dissimilar, with & producing little or no
anomaly

FAY: Ie-giem vd qu-ufRer fnat & gedw st & st
TEt F TT F 3 e fiE AGWE s ReEim ok ast S w

forelr o fix & dawcaodm 7 ¥ o9 S 9ed O F FeM A

B Toaedt #F & Sl & IE

1. o FETE oedfEs el

2. B T NS AT B & WY It wEaa aeafuT e Seh E

3. AW FENS AgT @9 & T I WS et Te S §

4,  ¥oU T UFEH AL HENS IcUee e aTed A F WY IHG HEOS
medfars s ¥

Al
Ad

Olbjectve Cuestion
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The fallowing figure shows the positions of valcanic islands over an active
tectonic plate. The numbers on them indicate their age in My. Consider the
follewing inferences I and I2:

. a

Iy: The plate was moving towards NE up to 15 My, then it started moving
towards the east

Izt The plate encountered tweo hotspots, one becoming inactive at 30 Ay and
other becoming active at 25 My

==

Inferences |1 and |z are correct
Infarence l1is correct, but |2 is not cormect

Inference |1is not correct, but Iz is correct

MM

Inferences |1 and |z are not comrect




e o el v faeoeh wie @ Seed adet & feafoar sefim
FIAT £ | 3T F W & FEAH My (58 FTE T9) § I g qarer §1 e
st vTur 1 97 R W

¥ w0

25

ah

hi 15 My &% woe 3eaq 9REd G & afFaw off, B 3oF 9 s w
Fr {7 T FEw

Iz THE Fa a0 Fuw AR v 30 My v RfEEw g mam aar gEr s

My ST i g
1. e |y FUT I EE E
2 ey LEEL AR LTERE
3, o |y Ted & AT L EE g
4, TAergL T L T E
1
.-'LEJ
.-133
4
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105 TOZ0BS

The points with the maximum and minimum anomaly valuss along a total field
magnetic anomaly profile over a single pole are separated by a distance of 120
m. If the horizontal component of the Earth's magnetic field in the area of survey
|5 thrice its vertical componant, the pole Is located at a depth (In m) of

1 60
2 602
3. a0

4 802




YAAH FENTS e 9ot g & Few 120 m & gf ¥ IRy wdwm sy &
gt Fr g 87 & #SF oEe TEE FwEhm ueE & A9 T @, 6

S (m ) METE uT
1 G0
2 602
3. 80
4 802
i
1
AZ
L
¥a
4
Ohjectve Question
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A 2.0 km thick landmass with 9.0 km thick root at the Meoho Is assoclated with a
Bouguer anomaly of -113 mgals and free-air anomaly of +113 mgals. What
would be the free-air anomaly when the landmass undergoes subsidence to
achisve a thickness of 1.1 km?

1 -5& mgals
2 0 mgals
2 36 mgals
4 225 moals

AT 97 9.0 km H& FE J147 (thick root) 2.0 km HIE B (thick landmass)
113 AT (mgals) T FEATT TUT +113 mgals FFa-91g FEATT & Hafta
2 9 qEE & ¥ 29 ¥ IE 1.4 km F HEE O 41 £ gFEIg
WA =41 Fi?

1. -56& mgals

2 0 mgals
3. 56 mgals
4 226 mgals

Al
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108 TOZOBE

& gravity profile across a two-dimensional horizontal (cylindrical) body recorded a
maximum anomaly value of 1.2 mgals. On upward continuation by one unit, the
maximum anomaly value s reduced to 0.8 mgal. \What would be the value of the
maximum anamaly (in mgals) on downward continuation by 1 unit?

i 1.6
e 2.0
3. 2.4
4 3.2

ol gfa-fehg 8w @Ewamn) BT F 3R Fe-ERE & wftwas 12
A (mgals) # A7 HEETES FRn v s 23 EEfaEEn 3 W
9, HUFaH HEE g9 FT 0.8 mgal & AT F1 1 T @R AR #OHR
aTa g, & witeas #EafE (mgal #)F JF T4 EEm?

1. 1.6
2. 20
3. 24
4. 3.2
Ay
|
AL,
1
A3
. a
3
s
4
2 -1 1
Fora given matrix 4 = |—-1 3 2| the ratio of its infinity norm and Euclidean
1 2 1
norm is
2
= e
[z
2 ?qE
23
3. Zq?
4 7=




2 11
=1 3 32

fow smegE 4=
-
ATACS T A0 41 2hm

-k
L
I

|
LT

L
-]

L
[
<] Wl =

-
=]

Ay
1
Al 2
2
A3
& &
3
R
4
Objectve Cuestion
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}#ﬁ?mmmmm

4.0

[

(=]

An earthquake is recorded at 2 stations with the P and S arrival times as given

below. Calculate the crustal Poizzon's ratio.

Station No. P arrival time S arrival time
H:M:5 H:M:8
1 10:00:01 10:00:05
2 10:00:05 10:00:13
3 10:00:08 10:00:21
Choose the correction option
1. 0.25
2. 0.275
3. 0.30
4, 0,33




UF {F9 F P AU S FUAA TAA, 3 YEvrEYEt 07 g fFU oA, S oA R
T E
I ETE HATAT B AT FE

Y50T HEOT P #OHA §AT | § #THA 69
o fr. & q.: fr . ®

1 10:00:01 10:00:05
2 10:00:05 10:00:13
3 10:00:09 13:00:21
i e # 3
1. 0.25
2, 0.275
3. 0.30
4, 0.33
1
Az,
L
4
Ohjectve Question
110 702000

Calculate the P wave velocity of a Polsson's solld having a bulk modulus of 120
GPa and density of 3 gm/cc.

1. 6.5 km/s
2 7.5 kmis
3. 8.5 kmis
4. 9.5 km/s

T wrdt 3| v P () J0r &9 Fr o w7 S swmmas 9w 120
GPa @ oelea 3 gmicc FT §

1. 6.5 km/s

2 7.5 kmis

3, 8.5 km/s

4. 5.5 km/s
S
1

Al
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The fault plane AB in the given beach ball figure represents
-
i
1. A normal fault striking N45°E
2. A thrust fault striking M45°E
3. A left lateral strike-slip fault
4. A right lateral strike-slip fault
for o gefe W (beach ball) o I swraw AB Fr ZofaT &
.1
]
1. UH WAET §9 Srwer afaeT 3.45'7, (M45°E) &
2 T BTy TAEET Afaeg N4AGE &
3. U IIH 9T F AfaeS-maor g
4.  UF ZEOT 9T FT ATEEE-EO0T Ay
i
1
AZ
A3 g
¥a
4
Ohbjectve Question
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Which one of the following is correct?

Statement [ Bright spots and dim spots represent amplitude lows and highs.
respectively.

Statement |I; Va"Vp decreases in a gas saturated zone relative to a water
saturated zone.

2.
3.
4

Both statements | and |l are True.
Statement | is True and Statement |l is False
Statement | is False and Statement |l Is True
Both statements | and |l are False

e 3t & #ta wowd
Fuer: | T AT gust amd, e ww & e am seea @ e

gl

FU: || FF Fed &7 H goer # fw d@qog #7 & VelVe & @1 B E

- =

FUS | TUT 11 AT T &
FUA | B0 ¥ T Ty || ¥Eew ¥
FUT | FET § AU FUF || BW &
Fue | TUT || et amew ¥

4.0

The normal log response (with spacing AM) for a high resistivity (R1) formation
with a thickness (H1 < AM) sandwiched between two thick (H = 10AM) low
resistivity (Ra<<R4) formations indicates which one of the following?

(2

2
3.
4

Larger (*H1) thickness with higher resistivity (=R1)
Smaller (<H1) thickness with higher resistivity (=R1)
Larger (=H1) thickness with lower resistivity (<R1)

Smaller {=H1) thickness with lowar resistivity (<R 1)

UF T== GFEINFAT (R $1 A& T34 (H1 < AM) FifF 25 312 (H = 104aM)
e ofEar (Re<<Ry) 9T TT=-HT F 99 roofer & ¥ Br oae=y
TETF FFFD (AM ), e # 7 R S w8

1.

Ll

o Wieru=aT (~R1) F Ay & (>H1) Ao
3= SR (>R1) F WY TG (<H1) AR
e wiEesaT (<R1) F |y & (>H1) JrerE
forr SfEU=aT (<R1) ¥ WY WY (<H1) R
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(=]

[=]

[FT)

In & Time-domain induced polarization survey, chargeability is calculated as 500
msec. Ifthe area under the transient decay curve is 5000 mV/.sec, then what was
the potentlal diference just before the current 15 switched off?

* 500 mv
2, S volts

3. 10 volts
4. 50 volts

FAT 98T 9TE g0 FEE0 A, HEIETAT T A0 500 meec #r I
& ofy 3oy a7 =% F i T 89 5000 mv.sec £, §9 U ¥ 92 @
F EF T ToweEET T4 A

1. 500 my
2, S volts
3 10 woltz
4, 50 volts
S
1
ia
2
3
Ae
4

A B CoLllY L are 26 metal electrodes placed at 10 m interval each along a
line over an inhomogeneous ground for electrical resistivity tomography survey.
Assuming electrodes A to Z are arranged in series and a cument flow of 1 Amp

hetween electrades A and B gives the potential difference of 500 u\ between
glectrodes ¥ and Z. the calculated apparent resistivity for the above cbservation
will be approximately

90am

22 Om
£9 Om
216 Om

B oW Mo




Frege afeitasar SEEmh 7deor F BT 9 lF AR CLLLLY 2, 26 U
¥ fageat #1 10m ¥ ¥Fa0= # BEAW 2 9 oF W@ F oA T
T f| A fE fegem A ¥ Z e cefRm f awT Reggm AW B &
=T 1 Amp Fr U TaE REgew v AWz F @ 500 wv FT RewTET &L

79 IO0ET UM F TIT T gfeenear £ o s gt
1. 50m
2 22 Om
3 £ Om
4 216 Om
=
1
A2
.-'LE__,'

Ohjectve Question

116 702086
Match the EM methods given in Group 1 with their corresponding freguency
ranges in Group 2

Group 1 Group 2
P. | Slingram A [ 10° Hz-1H=z
Q. | VLF E. | 1 Hz-1000Hz
R. | AFMAG C. |10 Hz-5000Hz
3. |MT D. | 5 KHz-30 KHz

Choose the correct option

1. P-D, Q-AR-C. 5-B
P-C,Q-D,R-BE S-A
F-B.Q-AR-D.5-C

£ oW b

P=-AQ-DR-C,5-B

9 1 # G Em it & qu.2 & 39 w9 e frew &y e

F1
1 [2

P. el A, 1109 Hz-1Hz
Q. | VLF B. |1 Hz-1000Hz
R. | AFMAG C. | 10 Hz-5000Hz
5. |MT D. |5 KHz-30 KHz

FE s o

1. P-DLQ-AR-C,5-B

2. P-C.Q-D,R-B,S-A

3 F-B.Q-AR-D,S-C

4. P-A Q-D.R-C.5-B
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In & YLF electromagnetic survey. the primary magnetic fisld at an obsearvation
pointis 20 units. If the secondary magnetic field at this location makes an angle
of 120° with respect to the primary field and has a magnitude of 5 units, then the
real anomaly in parcantage will be approximately

1 10%
2 25%
3. 358%
4 45%

VLF Bega =+ wdam &, o oden Beg W IEE e &9 20
THE 1 TR EEETE g 8T, 5F SE 97 WrAiEE ST W 1200 &
FIUT SATET & FUT 5 SHAT T IHAT §, 79 Fevd H IJEAEE
ooty sy gl

1. 10%
2. 25%
3. 35%
4.  45%
fila

1
.-'LE:
.-'LES
Ay

4

Which of the following statements Is correct about the electromagnetic methods?

1. MT method is & time domain EM methad

2. TURAM method measures the amplitude ratio and relative phase
difference between two-recelver colls

3. AFMAG method gives amplitude and phase change information

4, Transient EM method cannot be applied for airbome EM survey

20 132
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Rrgegada R & ot & B s § @ a1 @ e

1.

2.

[

s

s

MT fafer o awr-wgets EM Rfer &)

TURAM Tafty 2r-Fafrer g=ferat & de 3mam sgoa 997 Feiat &
AT

AFMAG fafy amarsr aur oem oftads gae &=h &)

sEurl EM Rt &1 arg=ifaE EM wderor & fm smpge e fear s
wAT|

Statement A Sea breseze circulation |s an exampls of barotrople circulation

Statement B: Sea bresze circulation can be explained using Bjerknes circulation

thearem.

Given the two statements. choose the correct option.

B oo

Statement A s correct; Statement B Is Incorrsct
Statement A is incorrect; Statemnent B is correct
Eloth statements 4 and B are comect

Both statements A and B are incorrect

FUF A TR FAN F IE0T JEAET TRHEI0 F1 IR0

FUA B THE TEN #7 SWEA 9FAT (Bjerknes) SHEERO wET ¥ #1 A
FHAl &1

2T o =t Tt F owmaw 9T, wE T T

1.

2,

TS A B & T B TES B
FUT AT £, FUTE T E
FUT A T B EAT WET £

FAF A AT E AT A &

[

ba
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4.0 132
Which of the following statements s NOT TRUE for the large-scale motion In the
atmosphere?
1. Time scale s much smaller than the time scale of the rotating Earth
2. Ratio of relative vorticity to planetary vorticity is of the order of Rossby
number
3. Ratio of herizontal divergence to relative verticity is of the order of Rossby
numbear
4, Ratio of horlzontal divergence to planstary vorticlty s of the arder of
guare of Rossby number
H B FlA UF wuA TgEsA A O tEe & A & 9w adt
1. o S gl & ofee & wew 4Ae @ ae S F A
2. HYH HTAEAT § TET SHAAAT F1 Fq9d THET HEAT F Fife # Far
Zl
3. 9T ¥TEO ¥ WY AR F OIS THET TEW F FE T EET
£l
4. @fRF wvEw ¥ T wTEEar w1 e e vEm o F af
T 8T £
*a
1
AT
L
o
4
40 132

Statement &: Rossby number is a measure of importance of Earth's rotation.

Statement B; Large scale molions in the atmospheare are associated with large
Fossby number values,

Given the two statemeants. choose the correct option

1. Statement A is incorrect; Statement B is correct
Stateameant A is correct; Statement B is incorrect

Both statements A and B are comect

B owom

Both statements A and B are incorract
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1

TOZ102

Fue A ol HEar get F ofEAD ¥ Ages 1 U A9 2T 8
FYA B AT F N GA F A & O TEm AW gahg g
gl

T T Tt F 3w W w A T

1,

[ =]

[ =]

LFE)

FUT A A § FHIF B T E
FUT A T & FUA B AT £
A TF B Wt Fua Ta #I
A TF B ST FUF A £

If the surface air temperature increases towards north in the northem
hemisphere. the direction of thermal wind will be

1.

2
3
4

Mortherly.
Easterly.
Wasterly.
Southerly.

afe 398 MEn # BAF 9 AFEE 3 B HT T84T &, FE I A e

Al

Al

Ad

[ ]

[ =]

LFE)

o A= STE g

3T
<




Ohbjectve Question
1353 | 702103

Objectve Cuestion
124 702104

Al

4.0
How is vertical velocity computed in a hydrostatic model?
1. using zonal component of momentum equation
2 using thermodynamic ensrgy equation
3. using continuity equation
4 using meridional component of momentum equation
T FEEIfEE Alza # FeSny oty #7 o S A FEr A
1. T AR F HiS(o R w1 T4 # %
2 FEARIAF F=1 FHI0T FT OO0 #71 &
3 fot=atar w1 9m S
4 FETT FHEAT & IEOEOT UEE HT 9469 1 F
1
Az
A3,
.:-'L4 %
4
4.0

Computational stability in 1-dimensional Eulerian atmospheric model is controlled
by which one of the following conditions? [where C is a phase speed, AT is the
time step and Ax s the grid size]

1 o A

2. %_T_

3. <1

4. |-:%r:v";.

1T sgpias aigaEseT Aisa # s T & e aw e e
HIeuT g fataa Fear ST 87 (S8 C© U Fen AT #, AT THE 10
TR Ax ATHF AT ]

CAT ‘

]

1 =3
cAT

2, —=1
A
CAT

3. — <1
Az

4, 1<% =2

Ax
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Al

(=]

[=]

[FT)

Which one of the following is used as boundary forcing in long-range (4 maonths &
beavond) prediction by global atmosphearic Numerical Weather Prediction (NWF)
model?

1. Global surface wind

2 Global surface pressure
3. Global surface humidity
4

Global sea surface temparature

4fias TQEEAT FFF AR Q@A (NWP) ZET A e (4 A e
THE A AR A A § i TR F HA woies § BT wate e
ST B

1, gf¥a+ Hag 994

2, da" woF g

3. fiTF wEg WA

4, #f%E= wAg |ag a9

Lid

Lid

For clouds with fixed liquid water path cloud optical depth is

b inversely proportional to the cloud droplet effective radius

2 directly proportional to the cloud droplet effective radius

3. directly proportional to the cube root of the cloud droplet effective radius
4 inversely proportional to the cube root of the cloud droplet effective radius

=0

20
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P geT SR T s mr AN F Prag wsrhr mdmar . @9 B

1.

7 g waEEr B & sgeEReEr

2. A9 4g wHEEN A & FEREEr
3. AW iz weEer e & eAe & SR
4, A9 §g TAEFHT 50T & OAHA F SgewATAr
Aly
1
A2
Al 3
Atq
4
20
Active and break cycle of south-west Indian monsoon are considered to be an
osclilation of
i 1-5 days
2 5-10 days
3. 20-80 days
4 10-20 days
ziewr-sfies ada Aage ¥ wfka ran TR 9 = FTF
ST AT =TT £
1. 15f=
2. 50
3. 2060
4, 10-20fem
M
1
A2
Al 3
i
4
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Tropical cyclones do not attain the maximum intensity during the Indian south-
west moensoon period, due to

1. high moisture availability

2 strong vertical wind shear

3. strong north-south temperature gradient
4

strong north-south pressure gradient
HIETT STEUT-aiias AR #EY F SN 7507 Fieadim S%ae I=aaA
Saeal F AT ARl FAl, FEF FHO 7l
1. I=T HEAT #1 IoeegA
2. TE FCAMNT TEST HIEIOT
3. TC IA-GIET AT WErE

4, 72 IWT-EfEor g w9oram

Light absorbing aeroscls in the atmosphere cause

1. surface warming and atmospheric coaling
2 surface cooling and atmospheric warming
3. surface warming and atmospheric warming
4 surface cooling and atmospheric cooling

FGFESA H TH FIAH TG (W) FT FEOT BT &1
1, Fog A9A TTH FgAEE e

2, Fag fEwa USH IgAESA AT

3.  Tag d9MA UEH FIEHESA ad

4. wAE T IR TEES ofiEes

[
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Ad

Match the following aspects of south west monsoon over India and associated
ragion from the table

Regian Characteristics of southwest
monsoon
A | Rajasthan P. | Subtropical easterly jet
B. | Head Bay of Bengal Q. | Monscon Deprassion
C. | Southern Peninsular region | R. | Monsoon Heat Zone

Choose the correct optien
1. A-PB-CLC-R
A-R:B-@:C-P
A~ B=-R;C-P
A-OiB-P:C-R

EE

W # ANA U9 WeiUd &7 F FY IFF T Sav SaR AR ¥ fer
T T FT HE F |

CE aiEr oftes #wga &
FffaEor
T=E= P | z=teor s
B. | ofrd Fam=r i wEr Q. | g=ga FEEE
C. | zfarof sragfada R. | A o &
(SegeT) &
wer e o

1 A-P:B-Q:C-R
2 A=-RBE-O:C-P
3 A-Q;BE-R;C-F
4 A= BE-PF,C-R

Sun-synchronous polar orbiting satellites pass over any given |atifude

1. at same |local time during #ach pass with tilt of 58°
2. at different local time during each pass with tilt of 55°
3. at same local time during each pass with tilt of 55°
4. at different local time during each pass with tilt of 98°

20

4.0

132




FE-Feaes ga qfEa soaE e off for oA semr F W ow
R FTAE

1. 98 H=1E ¥ HY & UF 9007 ¥ A U @1 R BAT 90
2. 55 E§HT F WY § UH 90 F g e mnim mAw W
3 55=thﬁwm$mwammw

4. 98" EWIH F W §1 U THOT F I Fe BT AT 91

e
1
Al ,
2
A3
5 3
3
..3.4 4
4
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Match the Column | with Column I

Column |: Atmospheric species Column Il: Peak
absorption
wavelength In pm
A COz P. |96
B. Water vapour Q. [6.7
C. Ozone R. [15

Choose the correct option
i A-R,BE-O;C-P
2 A-P.B-Q:C-R
3. A=-0,;B=P.C-R
4 A-QB-R C-P

FHAA | F T waw | & wrr Bere w1

FaA | - AYASAT TS FIaH || : A FFAIT
g &t pm H
A | COh e 128
E. | sy Q. (67
C. | sfrsiy R. [15
TE EweT A

1. A-R:B=-0O;C-P
A-PB-Q:C-R
A=Q:B=P:C-R
A-Q;B-R;C-P

oW M

Al




(=]

[=]

[FT)

Al
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Moist convective processes are extremely important over the tropical regions.
Which of the following is NCOT true?

1. Tropical regions have higher air-temperature and plenty of moisture

2. Tropical regions have large amounts of [atent heat of condensation ensrgy
release

3. Higher the air-temperature more moisture can be added until saturation is
aftained.

4. Change of saturation vapour prassure of air with temperature is linear

function of air-temperature,

soor Fieada &5 & U WS Haed ufeRard aga & Feeaqnt @ §) et
¥ i oE w6 87

1. oo wfadm &6 & O So9 ag-aTIee TeR OET ATeaT B i
2. IoUT FEEdE &5 F uw H#iUw 3vr F wees I ¥agEaa Ao

o B E
3. e arg TTORTE B U Fe 0% HguodT awf o g, Hi e
=T A HehaT £
4,  AUHE F WY A F T A9 TF A qEAE, TY-AAE F O
wee BT &
..-'L'il
1
22,
.-'LE;
..-";-1-4
4
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Which situation among the following is more likely to cause Clear Air Turbulence?

(A) 15 (B) 151
£ =
= 94 = 94
® 6 = 6
] ‘o
2 3_/-" X 3
T T T T T T T T
25 50 75 100 25 50 75 100
Wind speed (kt) Wind speed (kt)
(C) 151 (D) 45
= 47 o ]
B E 12
= 07 = 0
£= =
E B ?a.u- 6_
xr 34 X 3 4
T T T T T T T
25 50 75 10 25 50 75 100
Wind speed (ki) Wind speed [kt)
T A
2 B
3 c
4 D

for aw # ¥ F7 @ FEEw mew Iy R ¥ BT sfts wahe w9
(Helght : $215; wind speed : /g @ifA)

(A) 151 (B) 151
E 124 T 121
= s < o
S 6 W 5
it} a
=] 3 T 34
35 50 75 100 25 50 75 100
Wind speed (kt) Wind speed [kt)
(C) 15 (D) s
= 12 E 12
Esy i =]
= 6- o 6
T 34 T 3
25 50 75 100 25 50 75 10
Wind speed (ki) Wind speed [kt)
1. A
2 B
3 C
4 D

All
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Which one of the following can be used to reconstruct Quaternary climate in a
sediment core collected from the central Indlan Ocean basin at a water depth
=5000 m?

1. Diatoms, Radiclaria, Coccolithophores

2 Faraminifera, Coccolithophares, Ostracods
3. Diatoms, Radiclaria, Silicoflagellates

4 Trilokites, Conodonts, Benthic foraminifera

Frag firg FEWPE F =5000 m +1 Jo ME0E & FFer v FEAE #E H
A ¥ Fi T A F (AT F TEAT A S FFr §7

1. s, R, e

2. TRIEAET, FEREEn, M

3 TrEm AR R

4. TEwEmEr, sEE, Saeer @) erofiEiten

[

s

s

Consider the following statements

Statement A: The magnitude of solar tide s about half to that of lunar tide
Statament B: The tidal acceleration is inversaely proportional to the cube of the
distance between Earth and tide generating body.

Select the correct option

1. Statement 4 is true, B is false

Statement A Is false, B Is trus

Both the statements are true and statement B explains statement A

A

Both the statements are frue but statement B does not explain A

20
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o FuAr ¥ e #

FUe A BN TSR # A 909 791 & waHe FEl @ §

FE BTN A, T ER Sl s s F i frgfi s om ¥
SYFRATTAT EIE |

7 e oo

1. FUTATEHEBIETE

2 FUT AMAT E B AT ¥

3. 2=t wua W § U9H wua A ST SUTEDT #U4 B T

4. 2§ FUT T § g FATA R S T B A wew

20
Match column | with 1l and choose the correct option
Column | Codumn
A | Red tide P | Viviparity
B | Dimethyl Sulphide | Fish
Z | Bambay Duck R | Coccolithophores
O | Mangals 5 | Dinoflagellates

1.AS, B-R, C-Q, D-P
2. AR, B-3, C-P, D-Q
3. AP BQ CR DS
4.A-S, B-Q, C-P, DR

waH | F B wew || § # ran vl esn I

Eor=r-gl Eoer-l||
A | ool =R P | g
B | ot fhursw wewms | @ | Hw
C | 9fw (T =) R | s
D | e S | sroerrdeE

1.A-S, B-R, C-Q, D-P
2. A-R, B-5, C-P, D-Q
3. A-P, B-Q, C-R, D-S
4.A-S,B-Q, C-P,D-R

Al ,
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Match the modes of E-Mino southern osclilations in Column | with their
associated condifions in Column 11

Column | Column il
A. | ERNino P. | Deeper thamaocline in the sast than in the west
Pacific Ocean
E. | La-Mina Q. | Warmer than normal sea surface temperature in
the eastern Pacific Ocean
R. | Warmer than normal sea surface temperature in
the western Pacific Ocean
5. | Weaker than nermal trade winds I the Pacific
Ocean

Select the correct option
A-P.Q. 5 B-R
A-P.RB=-0Q.5

1.

2
3.
4

A=0,5B=-P R
A-R,SIB-F Q

FAH -| H vH A SHEUY AT F IFET F FEH || T IT9 g8
FIEMHT & @y e &1

Fraa | Fiaa
A | TE-FET F. | offas wola FEraeT f1 H98T qF T
FETAWI A TR e
B. | st Q.| ot qene FEEER # WAFT TEE G4 A9
$t ardeT TH
R. | af¥aslt ST #pEn # #FT R 996
ATTATT $r ardeT W
S. | galla AEEEE H WA ST gEn
HTHTFA ZEaAAT
e fawew
1. A-P.Q,S:B-R
2. A-PREB-QS
3. A-Q.5B-PR
4. A-R S B-PQ
ha
I
.-'LE:
.-'LES
M

132
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Objectve Question

How would the oxygen profile in modern tropical ocean look like if life were
remaved?

. f=—= l.—nl—:TI—
] y
{
I|
[ |ﬁ_ [ So—
~ ”
o B
\ T
\ g ™
\ N,
i [ A
2. B
3. G
4, (]

e e F T R s aw argfs ssor Ffed mermewt A

A= ardfT &mr fEEme
(Depth-TTET$)
i Oy ~ _Dnﬁ_
EL Ml 7~
lll.l’
] III
3 B ——s b L e

| N

1. A
2. B
i c
4 D
1
ME
..:'.-
Rk
3
i
4
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Consider the fallowing statements

Statement A: For a given wave genarating force, internal wawves have higher
amplitude than the waves at the sea surface

Statement B: Stronger stratification leads to higher wave amplitude for a given
generating force

Select the correct option

1. Statement Als true, B is false

2 Statement A is false, B is trus

3. Both the statements are true, and B is a comrect explanation of A

4 Both the statements are true, and B is not a correct explanation of A

oo Fyet o e &t

FUTA: TF 20 0 ST Fewd A & @0, WEg WA W A A Hde
afte ot & amae 5 e ¥

T B vF By 7 v sow o= F Bw w =0ee 5= o s
ae #

wEl Tasen g

1. wmuF ATS EBmeg E

2. wud ATed E, BEE #

3. gmFmmER A EhamemB

4. 2 FuE wh EAS wh coem B A

Ay
|
AT .
2
A3
. 3
3
s
4
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Which one of the following is NOT true for the Boussinesq approximation in
ocean?
1. Density remains constant except when it is multiplied by g (acceleration
due to gravity) in calculation of pressure.
2. Background (reference) density is assumed to be function of height
3. Vertical accelerations are not neglected
4. Phasa speed of ocean waves must be smaller than sound velocity in

sea waler
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WA & AETAFEF (Boussinesq) Wiedsew ¥ AT =8 ¥ T v wE A
g7

1.

Al

Ad

ZE $1 U & oA FE TR A § 90 I9 9 g (R
F=TuT) @ om R aer §

U (HeeH) OcT FI FOE FT Geled HAT AT E
FEIT =TI0T R AFET AT FET

THE ool # WEW AW R w0, A A § HEEE 7 @R
g |

s
=

Which of the following is NOT responsible for the formatfion of oxygen minimum
Zones (OMZ) in tha ocean?

1.

oW N

High Primary production
Denitrification

Slow Vertical Mixing
High resplration

=3 @ wlF Te. 5N # aaa B & (OM2) F a9 & B
TeET wE B

1.

2,

Al

== wrufdE Sourgdar
fraEderor (Eadiirse)
Feg TuEaT s

=9 wWad (IFEE)
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For the ocean to remain in a steady state, if the rate of input of a dissolved
constituent increases then

AL the rate of removal of that constituent increasss.

E. the residence time of that constituent remains unchanged.

Both 4 and B are correct.
Bath A and B are incorract.
Als correct and B is Incorrect.
A is incorrect and B is corract.

Lol Rl fe

Tt yEEw A AN H a9 e & v ofE ow O qr e § ane W
I T & A

AT s e s aTTaar 2§ |

B3 Ter miem ann e s &

1. AN B =l &

2. AMTaEE A £
3. AT E AT BIET B
4. ATwoF AT ETE R
Py

1
.-".21
s

Match the paleocsanographic changes (Column [} with their approximately ages
(Column 1)

Column | Column Il
P. Qpening of Andaman basin A, 34 Ma
Q. Opening of Red Sea rift B. 4 Ma
R. Opening of Drake Passage C. 20 Ma
Choose the correct option

1. P-B,Q-CR-A
2 P-C.Q-B.R-A
3. P=AQ=C,R=-B
4 P-BQ-AR-C
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IHER AT FEd (Fed-1) & T 3096 iedee 3 (Foa-1) 7 e
T

HioA- | HierA- |l
P. mﬁﬁww A 34 Ma
Q| o= ¥PR g (fwe) =1 geer  |B |4 Ma
R. &F o ($RS) F g C. 20 Ma

w8 fawen &

1 P-B,Q-C R-A
2 F-CQ-BR-A
3. P-AQ-C/R-B
A P-B;Q=-AR-C

The relationship between mean oceanic depth (d In m) and lithospheric age (tin
Ma} is given by d = 2500 + 350+, If the acean depth is 4700 m, at a distance of
1600 km from the Mid-Cceanic Ridge. then what is the approximate half-
spreading rate of the ridge?

1. 40 mmiy
2 40 cmiy
3. BO mmiy
4 BO cmfy

T we RS (d # #) vag TeEEE A (tMa # ) Ma =10 S 99
# 19 Haw #1d = 2500 + 350+t EANT ST A §1 IiE A H@EHT Hiew
#1600 o, #1. 7 gt = WO # TEE 4700 A @, 79 TR F Hiewhe
Y SENOT 2T F4 gl

1. 4ofasrad
2. 40@HAE
3.  sofEfasad
4. so#AEE

=0
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With respect to surface currents in the Indian ccean during winter (December-
February), ldentify the currents In Column | with thelr predominant directions in
Column I}

Column | Column Il
A, [ Winter Monscon Current (/MC) [ P. | Eastward
B. | East India Ceastal Current Q. | Westward
C. | Somalia Current {SC} R. | Morthward
D. | West India Coastal Currant 5. | Southward

s A-Q,B-3,C-5D-R
A-5B-R.C-5D-Q
A-O.B=-FRC=-R.D-5
A-FRE-S C-RD-Q

o ha

sfrere (Bweee - Wi % vAg fimg AeweR # woF 9 & we A,
Herd | H U F WA FAH ) H 3A% THE AT FoggEnd|

Haw | wer# |1
A | sfteerTe ATER 9T (WMC) P. |T=ﬁﬁ?11§
B. | 9& #m 7éw am Q.| gfrearfame
C. | e °nr (5C) R | seviigm
D. | offas sma @ am S. | efoniEEe

o [ A=0 B=5C=5D-R
2 A-SB-R.C-5D-Q
3. A-0,B-RC-R,D-5
4 A-PE-5C-R.D-Q
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Al

¥Which one of the following systems shows the shortest food chain in the ocean?
1. Oligotrophic gyre

2, Upwelling region

a. Downwelling region

4, Warm core eddies

TN # A § FI 90N TEE O @Rg 4Er #= Eme 8

1. Hewunf g

2. 3cFEOT &

3. uiEEEw &Y

4. FSUT AIE HAT

If the water from the oxygen minimum zone is brought to the surface ocean, then
the rate of community respiration will

1. remain unchanged
2. reduce substantially
a, enhance drastically
4. cease completely

ofg HfFESR —gATE 67 ¥ 99 F1 GO Tag 9 A0 990, G4 FEE
waaA W

1. o= a==r T e
2 HAGAT ¥ 7 g
3. 5w

4. oft T ¥ FF Foam
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Rain ratio in the ocean is the ratio between
1. dust and organlc matter
2 total rainfall and primary production
3. calcaresous material and organic material
4 lithegenic and organic matter
WER # T HAUE F & 1 A BT E
1. 9 TaH FEaEE 9@y
2. W a6 UAA SRS TS
3. TAHT = AR FEEE TE
4. d=- ST vemn TR =@
*a
1
AT
2
Al
: a
3
o
4
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Statement A: Turbldite deposits causing discontinuous sedimentary records are
commen in the eastern Bay of Bengal.

Statement B: The narraw shelf, large terrigenous influx and steep slope facllitates
turbidity flows.

From the given statements, which one of the following is comrect?
1. Both statements are Incorrect,

2 Statement A is corract and B is incorrect.

3. Both the statements are correct and B explains A,

4

Eoth the statements are correct but B dossn't explain A,
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far or el sAE & #iF vH w7

1. aEr Fuq =T g

2. U A TET g TIH FUA B oA £
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